Draw a Marshallian long run production function of the form Q = f (Labor,
        Capital).    

       (A)  Draw three production isoquants indicating output levels of 3,000 units, 4,000

               units, and 5,000 units resulting from capital and labor inputs of zero to 100 unit

               each.    (Does not have to be drawn to scale on graph paper.)

        (B)  Given the price of Labor at $40 per unit and the price of Capital at $20,

                construct isocost (budget) curves and show three equilibrium points through which the

                firm’s expansion path passes. Use an initial budget parameter of $800.

        (C)   Show the firm’s expansion path and explain what is true of input
                cost at each point along the path, i.e. are there economies of scale?   

